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Study course
assessment system
(indicators)

[according to
Science and
Education Minister
order #3,
5.01.2007]

Attendance: 0-5 scores, 0.2 scores for 1 attendance
Current academic performance: 0-24 scores

Every day (with exception of the first one) student’s theoretical knowledge and
clinical thinking skills are evaluated.

Additional activity: 0-16 scores

a) Students have to attend 4 clinical conferences, where students’ presentations
and clinical cases are discussed. For participation in every conference student
can receive maximum 2 scores (4 conferences - 8 scores). Student is active in
discussion, shows good knowledge and clinical thinking — 2 scores; Student’s
activity, knowledge and acquisition of problem-solving and decision-making
skills are insufficient - score.

b) Presentation on given topic — 0-6 scores..

¢) Preparation of one teaching medical history (it could be virtual history as
well). History is prepared sufficiently, data, including treatment match the
diagnosis — 1 score, history is prepared insufficiently — 0.5 scores.

d) 4 hours long day duty in the hospital — 1 score.
Credit: 0-15 scores

There are 3 main and one additional module. After all main modules students
have to receive credit (maximum 5 scores, in sum 15 scores).

5 scores — student answers sufficiently on all 5 questions
4 scores — student does not answer one question

3 scores - student does not answer one question, and two questions answered
insufficiently

2 scores - student does not answer two questions, and two questions are
answered insufficiently

1 score - student does not answer three questions, and one question is answered
insufficiently

Final total assessment: 0-60 scores

In order to receive the credit student has to attend at least 13 classes (from 25)
and receive at least 11 scores (from 60).




Cucrema
OLLeHKMU

(ocywectensetc
A COrlacHo
npuKasy
MWHUCTPA
obpas3oBaHuA n
Hayku #3 ot
5.01.2007)

MocewaemocTb : 0-5 6annos
OpHo 3aHATME — 0.2 Banna
AKapemunyeckas ycneBaemocTb: 0-24 6annos

Mocne Kaxaoro 3aHATUA (Kpome NepBoro) OLEeHNBAETCA 3aHUA CTYAEHTA U KIMHUYECKME HaBbIKM
(BK/Ily4an MHTENNEKTYaNHbIE HAaBbIKW — peleHns Npobiembl U MPUHATUSA pPeLleHns)

Makcumym — 1 6ann (1- cTygeHT akTUBHO yyacTByeT B NeAarormyeckom npouecce, obnagaer
COOTBETCTBYIOWMMM 3aHNAMM; 0.5 — ydacTMe HeyaA0BAeTBOPUTENbHOE, 3HaHMA dparmeHTapHsbl, 0 —
CTYAEHT He BbINOJHW/ OMALIHEro 3a4aHus

JononHutenbHaa aKTUBHOCTb 0-16 6annos

a) Yyactue B KoHdepeHUmax (BKAtoYaeT B ceba pa3bop KAMHUYECKUX ClydaeB U obcyKaeHue
npeseHTaummn).

3a yyacTve B 04HOM KOHbEpPEHLUMM CTYAEHT MOXKET NONYYUTb Makcumym 2 6anna (4 KoHbepeHunn —
8 6annos). CTyAeHT aKTUBHO y4aCTBYET B AUCKYCCUU, BbISBAAET XOpoLlee 3HaHKe npegmeTa u
[OCTaTOYHbIM YPOBEHb KIMHNYECKOTO MbileHns — 2 6anna, 3HaHMA pparmeHTapHbl, aKTUBHOCTb B
yyacTuu B KOHdpepeHLMn HegocTaTouHoe — 1 6ana.

6) Mpe3eHTauUuA Ha AaHHY Temy — 0-6 6annos
- CogeprKkaHue — onTMmasnbHo — 2 6anna, Tema paccCMoTpeHa HegocTaTouHo — 1 6ann.

-KauvectBo I'IpMBe,CI,EHHOﬁ NnnTepaTypbl — UCNOJ1Ib30BaHbl COBPEMEHHbBbIE MOAXO0Abl K 0T60py
MCTOYHUKOB, COOTBETCTBYIOLWME MONCKOBbIE NPOrpammsbl, NpeacrtaB/ieHbl HoBeNLWMne JaHHble — 2
6anna, Ka4yeCTBOMUCNO1b30BaHNA INTEPATYPblI HEAOCTATOYHOE — 1 63!1!1, npe3seHTauunA
noAaroToB/a1€HA /IMWb Ha OCHOBE y‘-IE6HVIKa —0.5 6anna.

- OdopmneHune npeseHTaLMN — NpeacTasaeHa B popmate ppt, coaepkuT Heobxoanmble
UnnCcTpauun — 2 6anna, npeacrasneHa B opmate ppt, 04HaAKO AN3aitH HeyaoBaeTBoputeneH — 1
6ann.

- Mpe3eHTaumA npeAcTaBAeHa IMLWb B SNEKTPOHHOM dopmaTe; TEKCT yaosaeTsopuTteneH — 1 6ann,
HeygoBneTsoputeneH — 0.5 6anna.

B) MoAroToBKa 04HOM MeAMUNHCKON UCTOPUM (peanbHol nnn BUpTyanbHOM). UcTopus
noAroToB/eHa YAEBNETBOPUTENbHO, AaHHbIE, HAa3HAYeHMUA — COOTBETCTBYLUT AnarHosy — 1 6ann,
UCTOpUWA NOAroToB/EHa HeyaoBaeTBopuTenbHo — 0.5 6anna.

r) 4x YacoBoe AHEBHOE AEKYPCTBO B KNMHMKe — 1 6ann.

3auer: 0-15 6annos




Bcero 4 moayns (3 OCHOBHbIX M OAWH AONOJAHUTENbHbIN). Py 3aBEPLIEHNN KaXKa0oro Moayns
CTYAEHT A0/IXKEH O/IY4UTb MPOMEXKYTOUHbIN 3a4eT (Makcumym 5 6annos, scero 15 6annos).

5 6annos — CTYAEHT OTBEYAET YO0BNETBOPUTE/IBHO HA BCE 5 BOMpPOCOB

4 6anna— CTYyAEHT HE OTBETU/1 Ha OAUH BOMPOC U3 5

3 6anna-— CTyAeHT He OoTBeYaeT Ha OANH BOMNPOC, Ha ABa BOMNPOCa OTBeYaeT Hey40B/NETBOPUTE/IbHO
2 6anna — CTYyAEHT HE OTBEYaEeT Ha 2 BOMpOCa, Ha 2 BOMpPOCa OTBEYAET HEYAOBNETBOPUTE/IBHO

1 6ann— CTyAEHT HE OTBEYaEeT Ha 3 BOMNpOCa, Ha O4MWH BOMPOC OTBEYAET HEYAOB/IETBOPUTE/IbHO.

OKoHuaTenbHas oueHKa: 0-60 6annos




